=-x-2
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@® 4x+3=5(x-3) @ 4x+3=3(x+3)

® dx+3=3(5+x) @)1x+3=3(5-%)

® 4x-3=3(x+3)

ol

Aoz Ve @ 4x + 3 = 3(5 - x) ©]ch.
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@ 2x-4 © 5x-3=7
© 3x=0 ® HFxT7=34
® 2(x+1)=2x+2 ® a+4>5

=i 7H

@2(x+1)=2x+2: F54
@a+4>5: 754
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> HEH: ab=-12
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DO a+c=b+c©oHa=bolt}.
@ a=bolHa-c=b-c ot}

@ac = bc ©|H g = b o]t}
1 1

@ 5(1 = gb O] 3q = 2b ©|T}.

® a=b 9" ac = bc ©]t}.

@ A= E0]1x0=2x0°]AT 12 o]t}
Zc#0<Y M, ac = bc ©|A a = b O[T}
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-4x+10=2

cO9lHa+c=b+c

a

©)

b-c

colHa-c=

ofc},
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o

® otFAE AHgHA]

@-4x+10=2

—-4x+10-10=2-10

@ —4x

-8

—4x+(-4) = -8+ (-4)

x=2




